



TO
16/09/2023

Government of UT of Jammu & Kashmir
OFFICE OF THE SUPERINTENDING ENGINEER (JAL SHAKTI DEPARTMENT)

HYDRAULIC CIRCLE PULWAM HQ: SHOPIAN

Phone No/Fax: 01933 -465863, 01933 260250 email {sehydraulicsshopian@gmail.com}



Allotment Order No. SE/HYD/SPN/Allot/JJM/ 0.9 of 2023-24 Dated:- 16/09/2023.

Subject: Laying & Fitting of Delivery and Distribution Mains consisting of GMS Tubes and Ductile Iron Pipes of different Nominal Bores along with pipe fittings and control valves At Various ongoing Schemes of PHE Division Shopian of Kashmir Province of UT of J&K, under Jal Jeevan Mission.

Ref: 1. Executive Engineer Jal Shakti PHE Division Shopian's E-NIT No. 05/JSDS of 2023-24, dated: 26-04-2023.

2. Executive Engineer Jal Shakti PHE Division Shopian's letter No. JSDS/864, dated: 11-05-2023.

3. Minutes of meeting DJJM Shopian and approval thereof held on 08-05-2023.

4. This office Letter of Intent issued vide No. SE/Hyd/Spn/DB/1131-33, dated: 18-05-2023.

5. Accord of administrative approval order No. SE/HYD/SPN/ 18 of 05/2021-22 dated:- 03-05-2021. issued by Superintending Engineer Hyd. Circle Pulwama HQ; Shopian vide No. SE/HYD/SPN/480-82 dated:- 03-05-2021.

6. Technical Sanction order No. CE/PHE/DB/ 715 of 10/2022 dated: 19-10-2022 issued by Chief Engineer Jal Shakti (PHE) Department Srinagar Kashmir vide No. CE/PHE/DB/26553-57, dated:19-10-2022.

Advertised Cost: Rs. 169.54 lacs (Rupees one crore sixty nine lacs and fifty four thousand only).

Allotted Cost: Rs. 168.59 lacs (Rupees one Crore sixty eight lacs and fifty nine thousand only).

Head of Account: MH-4215 JJM.

ORDER

For and on behalf of Lt. Governor of J&K Union Territory contract for "Laying & Fitting of Delivery and Distribution Mains consisting of GMS Tubes and Ductile Iron Pipes of different Nominal Bores along with pipe fittings and control valves At Various ongoing Schemes of PHE Division Shopian of Kashmir Province of UT of J&K, under Jal Jeevan Mission." is hereby allotted in favour of M/s Fayaz Ahmad Khanday S/o: Abdul Gaffar Khanday R/o: Shiganpora Yaripora Kulgam bearing Registration No. 16/AAY/SE/Hyd/Anantnag/2007-08 at the rates approved as Show in "Annexure A" to this allotment order.

Performance security deposited by contractor vide CDR/C/21 No. 3378292 dated: 28-08-2023 for an amount of **Rs.509000.00** is being retained as Security deposit in the Circle office.

Terms and conditions:

The contract shall be governed by the following terms and conditions:

1. The cost of work in no case exceed beyond **Rs. 168.59 lacs (Rupees one Crore sixty eight lacs and fifty nine thousand only)**. The date of start of the subject work shall be reckoned from the date of issuance of this allotment order/L.O.I. Given the fact that Letter of Intent stands already issued by the Executive Engineer PHE Division Shopian vide his letter No. SE/Hyd/Spn/DB/1131-33, dated: 18-05-2023 . In case of failure to start the work within three days of issuance of this allotment order/L.O.I action as warranted shall be initiated.
2. As soon as letter of award is communicated to the firm, the contract shall be complete and binding upon them, the bidder/firm shall also be required to execute an agreement with the competent authority within seven days from the date of issue of letter of award. Failure to execute such an agreement in time shall not however, prevent this contract from being enforced against the firm and the date of delivery of the material/completion of works shall be reckoned from the date of issue of L.O.I/allotment in favour of successful firm.
3. Performance security equivalent to 03% of the value of the contract which works out to **Rs.509000.00** - shall be retained by this office till the work is completed and DLP is over.
4. The work shall have to be completed within a period of 180 working days from the date of issuance of this allotment order/L.O.I failing which penalty upto 10% of the total value of contract shall be imposed upon you.

No- 3378292
Dated 18-09-2023
AEE Spn/2
DX

5. The defects Liability period shall be for a period as mentioned in Standard Bidding Document/E-Nit which shall commence after the successful completion of Trial run, during the defects Liability period (DLP) the agency have to operate & maintain the scheme as it is required for its successful running & as per Standard Engineering Practices, to the full satisfaction of the department. The agency shall be responsible to make good & remedy at his own expense any defect in works which is noticed during the DLP. In case any defect remains unattended by the agency at the completion of DLP, the department may extend the DLP for such time as deemed fit for getting the defect rectified subject to a maximum ceiling of 6 Months

6. All other terms and conditions and technical specifications shall remain the same as laid down in the **Standard Bid Document of the subject e-NIT and Terms & Conditions thereof** read with the corrigenda, DJJM Minutes of Meeting.

Sal/HD

SE
Superintending Engineer
Hydraulic Circle Pulwama
Hq: Shopian.

No. SE/HYD/SPN/Allot/CC/ 4090 . 94

Dated: 15/09/2023.

Copy to the:

1. Mission Director JJM J&K Civil Secretariat Srinagar/Jammu for favour of information.
2. Chief Engineer Jal Shakti (PHE) Department Srinagar for favour of information.
3. District Development Commissioner Shopian (Chairman DJJM Shopian) for favour of information.
4. Executive Engineer Jal Shakti (PHE) Division Shopian for information and necessary action. He is directed to get the work executed as per approved drawings/specifications within allotted cost.
5. Mr. Fayaz Ahmad Khanday S/o: Abdul Gaffar Khanday R/o: Shiganpora Yaripora Kulgam for information.
6. File.

ANNEXURE "A"

Laying & Fitting of Delivery and Distribution Mains consisting of GMS Tubes and Ductile Iron Pipes of different Nominal Bores along with pipe fittings and control valves At Various ongoing Schemes of PHE Division Shopian of Kashmari Province of UT of J&K, under Jal Jeevan Mission.

Allotment Order No: SE/HYD/SPN/Allot/JJM/CC/ of 2023-24, Dated: /09/2023.

S. No.	Item of work	Unit	Qty	Rate	Amount
1	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: All kinds of soil :1 meter from cutting	cum	8652.6	436	3772533.60
2	Laying in position centrifugally cast (spun) iron S&S or flanged pipes (excluding cost of pipe). 100mm dia D.I pipe	qtl	198	245.55	48618.90
3	Providing push-on-joints to Centrifugally (Spun) Cast Iron Pipes or Ductile Iron Pipes including testing of joints and including the cost of rubber gasket. 100 mm dia	each	181	89.7	16235.70
4	Laying and fitting of G.I. pipes (all classes) complete excluding cost of pipes, fittings and Earth work				0
4.1	80 mm dia. GI pipe	mtr	800	73.05	58440
4.2	65 mm dia. GI pipe	mtr	1500	73.05	109575
4.3	50 mm dia. GI pipe	mtr	7700	40.8	314160
4.4	40 mm dia. GI pipe	mtr	9450	40.8	385560
4.5	25 mm dia. GI pipe	mtr	9400	30.65	288110
4.6	20 mm dia. GI pipe	mtr	10950	20.25	221737.50
10	Providing and fixing of different Pipe Specials of standard make as directed by Engineer-in-Charge i/c all carriages complete job				0
REDUCER SOCKET					
	100 x80 mm ø G.I =	No.	4	320.00	1280
	80x65 mm ø G.I =	No.	2	220.00	440
	80x20 mm ø G.I =	No.	2	200.00	400
	65x50mm ø G.I =	No.	6	150.00	900
	50x40mm ø G.I =	No.	7	100.00	700
	50x25mm ø G.I =	No.	6	95.00	570
	50x20mm ø G.I =	No.	15	80.00	1200
	40x25mm ø G.I =	No.	18	60.00	1080
	40x20mm ø G.I =	No.	9	55.00	495
	40x15mm ø G.I =	No.	20	55.00	1100
	25x15mm ø G.I =	No.	18	45.00	810
	25x20mm ø G.I =	No.	20	50.00	1000
	20x15mm ø G.I =	No.	27	40.00	1080
GI TEE					
	80x80x65 mm ø G.I =	No.	5	265.00	1325
	80x80x50 mm ø G.I =	No.	3	260.00	780
	80x80x40 mm ø G.I =	No.	4	250.00	1000

SURE HD

AAO


S. E.

	80x80x25 mm ϕ G.I =	No.	3	235.00	705
	65x65x50 mm ϕ G.I =	No.	6	190.00	1140
	65x65x40 mm ϕ G.I =	No.	5	185.00	925
	65x65x25mm ϕ G.I =	No.	7	175.00	1225
	65x65x20mm ϕ G.I =	No.	6	170.00	1020
	50x50x40 mm ϕ G.I =	No.	9	160.00	1440
	50x50x25 mm ϕ G.I =	No.	6	150.00	900
	50x50x20 mm ϕ G.I =	No.	8	150.00	1200
	40x40x25 mm ϕ G.I =	No.	7	130.00	910
	40x40x20 mm ϕ G.I =	No.	8	125.00	1000
	80mm ϕ G.I =	No.	3	497.00	1491
	65mm ϕ G.I =	No.	2	355.00	710
	50mm ϕ G.I =	No.	2	200.00	400
	40mm ϕ G.I =	No.	7	126.00	882
	25mm ϕ G.I =	No.	7	96.00	672
	20mm ϕ G.I =	No.	20	50.00	1000
	BEND				0
	80mm ϕ G.I =	No.	3	850.00	2550
	65mm ϕ G.I =	No.	2	700.00	1400
	50mm ϕ G.I =	No.	2	400.00	800
	40mm ϕ G.I =	No.	7	350.00	2450
	25mm ϕ G.I =	No.	7	300.00	2100
	20mm ϕ G.I =	No.	20	250.00	5000
	ELBOW				0
	80mm ϕ G.I =	No.	4	376.00	1504
	65mm ϕ G.I =	No.	2	280.00	560
	50mm ϕ G.I =	No.	5	179.00	895
	40mm ϕ G.I =	No.	4	130.00	520
	25mm ϕ G.I =	No.	4	80.00	320
	20mm ϕ G.I =	No.	15	50.00	750
	UNOIN				0
	80mm ϕ G.I =	No.	6	400.00	2400
	65mm ϕ G.I =	No.	2	300.00	600
	50mm ϕ G.I =	No.	5	250.00	1250
	40mm ϕ G.I =	No.	10	180.00	1800
	25mm ϕ G.I =	No.	13	100.00	1300
	20mm ϕ G.I =	No.	15	80.00	1200
	100x80mm ϕ D.I (REDUCER)	No.	2.00	2000.00	4000
	100mm ϕ D.I (BEND)=	No.	4.00	3000.00	12000
	100x100x80mm ϕ D.I (EQUAL TEE)	No.	2	3000.00	6000
	Sluice Valves				0
	150mm ϕ =	No.	2.00	6508.50	13017
	100mm ϕ =	No.	4.00	4597.85	18391.40
	gate valve				0
	80mmdia (gun metel)	No.	7.00	1568.85	10981.95
	65mm dia (gun metel)	No.	7.00	2406.65	16846.55
11	Providing of FHTCs to every unconnected household including cost of 15mm to 20mm dia G.I pipe for a length of 6 to 20 mtrs with G.I fittings / specials incl. laying & fitting of pipes ,earth work in excavation and refilling.The job includes providing and fixing of Water Meters. complete job.	No.	2583	3850	9944550

~~Sub HD~~

AAO

S. G

12	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.	cum	7959.8025	198.7	1581612.75
13	Carriage of pipes from Divl. Store upto site of work for avg lead of 9 Km incl loading ,unloading & stacking complete.				0
13.1	Below 100mm dia G.I pipes	M.T	110.87	237.4	26322.95
13.2	100mm dia D.I pipe	Mtr	1000	5.8	5832.75
14	Extra Carriage of material from dumping site to actual site of work by manual means (Head load) for an avg lead of 400 mtrs.				
14.1	Below 100mm dia G.I pipes	M.T	110.87	310.7	26322.95
14.2	100mm dia D.I pipe	Mtr	1000	8.4	5832.75
G.Total					16943860.00
Quoted Rates @ 0.5% below					84719.00
(Rupees One crore sixty-eight lacs fifty-nine thousand and one hundred forty one only)					Net Amount
					16859141.00

SD HD

AAO

SD
Superintending Engineer
Hydraulic Circle Pul. HQ Shopian